INJNIAHUMETPHUSA

ILromaas TpeyrojibHMUKA
1) Sy = 5 ah,
2) Sp = %absimp
3) Sy = 7 ab —npamoyr. A
4)Sy=p(p —a)(p - b)(p - ©)

p — NOJIyIepUMETP

5) 55 = 202

—IpaBUJIbHBIM A

6)Spa=p-T a b

p — NOJIylIepUMETP

7)5 =5 JAA\
o =

c a-b
h=——
b {a C
I a=,/cra,
b, a,
AT—___ b __—8 h=,la. b,

TeopeMa kocHMHYCOB
c? = a? + b? — 2abcoss(a,b)
cosz(a,b) > 0,
b , €CJIM YIrOJI OCTPBIH;
C B cosz(a,b) <0,
€CJIM YToJI TYIOou

Teopema cunycos
a b c

sinA sinB sinC

Ilinomane 4-yrojibHNKA
1) Sg = a?
2) S =ab
3) Snapannenorp. = ah,
4) Snapannenorp. = absing

5) Snapamleﬂorp.
1
=3 d,d,sing

1
6) Sp0M6a =3 d,d;

7) STpaneuHH =—nh

CaoiicTBa 4-yroJibHUKOB
a+b—c+d tA+2£C=4B + 4D

o O

IIpaBu/IbHBIA TPEYT0JIbHUK

a3 o
=3

A
SN

CBoiicTBO
MeaHaHbI

AM : MN =2:1

CyMMa yrjioB MHOI0yroJibHUKA

Sy = 180° s
A< >D
E

S4—yronbm/1}<a = 360°
OKpYKHOCTBH M KPYT

S, =180 (n—2)
Coxpysxn = 2TR Q
Sypyra = TR®

IHoxo0HbIe purypsl

P
I_Tl__‘ 60JIbIII. c1> —k
MeHbI_H ()

S60Jlbu1 c1> 2 V60.}IbI_H () k3
SMeHbI_H 0] VMeHbI_H 0]




